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qa=t 2,537.5 289.5 54.0  1,597.5 41.5  1,339.5 216.5 412.5 184.0 - 21,549.5  2,422.5 79.48 90.35
ZALH T AR 391.5 41.0 14.0 253.5 9.0 228.5 16.0 58.0 25.0 - 9,086.5 438.5 81.38 95.78
bk T AR 171.0 24.5 4.5 94.0 3.0 78.0 13.0 28.0 21.0 -1.0  1,309.0 153.0 77.05 90.53
E 1 | UWADEN I 315.5 21.5 5.0 185.5 5.0 175.5 5.0 73.5 30.0 - 1,575.5 266.0 71.62 84.80
HhE T AR5 233.0 25.0 3.5 177.5 3.5 101.5 72.5 32.0 -5.0 - 1,015.5 153.5 84.73 87.69
HTHE T AR 60.5 .5 2.5 42.0 1.0 29.0 12.0 8.5 -1.0 - 448.5 95.0 83.17 81.27
TSR T AR 61.5 9.5 - 37.0 1.0 31.5 4.5 14.0 1.0 - 263.0 41.5 72.55 87.83
Z o T AR 282.0 43.5 5.5 173.0 6.0 145.0 22.0 44.0 15.0 1.0 1,795.0 288.0 79.72 86.69
R T AR 34.0 5.5 - 21.0 2.5 18.0 0.5 4.5 3.0 - 319.0 43.0 82.35 88.24
BALH T AR 108.0 11.5 .0 67.5 - 47.5 20.0 19.0 8.0 - 536.0 88.0 78.03 86.10
B0 N s 78.0 8.5 4. 42.0 - 34.5 7.5 16.5 7.0 - 249.0 49.0 71.79 85.34
BEHEHIT AR 70.5 15.0 - 36.0 1.0 33.5 1.5 10.5 9.0 - 500.0 88.0 77.42 85.40
EEIH T AR 203.5 18.0 5.0 146.5 4.0 109.0 33.5 30.0 4.0 - 1,123.5 159.0 83.00 87.89
Py 3 e br i 168.5 17.0 2.0 105.5 3.5 101.5 0.5 26.0 18.0 - 1,333.0 205.0 80.23 86.05
TETEH T A 109.0 15.5 - 62.5 1.0 61.5 - 15.0 16.0 - 671.5 119.0 80.65 84.59
Bl DR 4.0 - - 4.0 - 3.5 0.5 - - - 12.0 3.0 100.00 75.00
B R b T AR5 82.5 9.5 3.0 46.5 - 43.0 3.5 14.5 9.0 - 522.0 87.5 76.23 85.63
EE AT AR 17.0 3.0 1.0 13.0 - 13.0 - - - - 109.0 29.5 100.00 76.61
TEEHY T AR 48.0 3.0 - 38.0 1.0 33.0 4.0 6.0 1.0 - 183.0 46.0 86.36 76.50
H R T 75RE 51.0 5.0 1.0 24.0 - 24.0 - 5.0 16.0 - 184.5 28.5 82.76 87.80
FPEI T AT 36.5 4.5 1.0 21.5 - 21.5 - 4.5 5.0 - 286.0 37.5 82.69 88.81
BT A 12.0 - - 7.0 - 7.0 - 3.0 2.0 - 28.0 4.0 70.00 85.71
52 HAEEIIR (%) 4.99 11.99 -17.56 3.70 2.47 0.45 30.03 10.44 3.37  -100.00 13.39 8.66 -1.01* 0.38*
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